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Julius checks his sundial to find out which clock is right. The
sundial says it is 14:38. Which clock is right?

Julius is planning to go to the
chariot races, which start at

4 o’clock in the afternoon.

How long has he got before the
races start?
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Chariot Times:

5 BRUTUS 157 seconds
FELIX 120 seconds
AUGUSTUS 137 seconds
MARCUS 146 seconds
GALLIO 147 seconds
TITUS 131 seconds

Whose chariot took 2 minutes and 17 seconds?

Brutus wants to get his time down to 2 minutes. How many seconds
faster does he need to go?
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Answers:

7:00, 4:47 and 2:38
C

1hr 22mins
Augustus

37 seconds

© Maths Star 2014 www.mathsstar.com



